EAGRAROBREERT — 2 N— ABISH —F

20205108178 (£) 13EMAE1H

M C2—32# C2 #5%3®kL EREE R
[xE£] 1 %&:270,000 3  2#%:81,000M™  3#%&:43,000M  43%&:22,000 "  53#:16,000 M
B\ BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF [SIEH | AR | HE | NG FIB) / BE / £ENS
< iim 2} :31. -3-2- . — REM (£8)
1lglg| T hT7=II/I '3 56.0 1(3_1)4 321 1389 ! (4_245) E%gﬂ .
LIXFrFLY BEIFTIIr II75TT =14
SIS . =K TER 132, =i=i= . = ABEX (EE)
ol1l1|vHNnyTY s 7 A B S Il e
L:xrinam— B4 7142014 RS
- BEE— . —6-5- — FlEE (EE)
318110 WIFYT R 4 3 =5 1.(322>.6 5-6-5-5 | 39.3 8 (5_143) EEJZ?.S i
R:Zh—0 BNFATvT hFAY A%y R
. . IFas . -3 — AB®RKE (EE)
al7ls SELAOL 4 3 L 1(.13/22.)7 2-2-3-3 | 40.1 4 (iig) Gl
Z:Z2hA>T)E—-> B:ALAAHILEY R 24> T 14— K5
. TR :33. ~5-4- . — BARRT (EE)
507/ 7 AXFELO— 4 3 50 (12313/22) 6-5-4-4 40.2 6 (11682) %{%ﬁjl\'f g8
LN=5=2y 7T BAAE-FZ adl=cEaes]
S = :33. —8-6- . = TIERE (£8)
«H s L= IR T % 3 S 1(343)9 7-8-6-7 | 40.3 7 tzgg) xﬁ%&u "
LA—YvTI— BHITTr=—4% BEZX &y b
. < FEZ} : -9-8- — Z/EEA (EE)
; 3 RU—LTg—3— 4% 3 A51.% 1(.33/12.)1 9-9-8-6 | 40.1 10 2532) 1t%ki "
LTv TRy b Bi74—3— BEAS
S S . KR A : -10-9- = ILE# (£5)
8 613 I P 4% 3 54?0 1.(355).1 10-10-9-8 | 41.2 9 <4+234) R
R:T7oTANIVE B:TLIT7Lxv /> T)FZXTF—TI
IR o =ksr : —4-7- — AE—k (£8)
9 4 JxLa—4y b 4 3 58 1.(335).7 4-4-7-9 | 42.3 3 (i;:) e 7
L:A—-KFHFA7 B:YINIZERT1— EdhTT— L
== BESESE :35. —7-10- . = KIEEK (£8)
N . B s e R R I R e
R/ EL—b B:h—HYIINFT LY AR RSB
@ 1 —F—@EBIEf
1T=7r= 1,8,9,4,10,7,5,2,3,6
2a=5F= 1,8,9,4,7,10,2,5,3,6
Ja=9= 1,9,8,7,10,5,4,3,6,2
40—+ — 9,1,8,7,10,3,5,6,4,2
[ /N
B 9 130M4 714K 1-9 140H e E 1-8 310 JEE 1-9-10 2,710
B B 9 110 9-10 1,360H B = 1-9 290M 3EE 9-1-10 6,230
1 160M 1-10 1,900 B H 9-1 450M
10 790M

ARICOVWTRDTEEERROODE. TR LI,




